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Note : Answer all the four questions. 

1. Answer all the five parts : 1×5=5 

(a) Assign E or Z configuration to the 

following alkene : 

3

3

H C Cl

C=C

H CH

  



 [ 2 ] CHE–05 

B–1472/CHE–05 

(b) Which of the following is a stronger acid ? 

 

 

 

 

(c) Write the functional group isomers 

possible for compound having molecular 

formula 2 6C H O . 

(d) Classify the following as enantiomer or 

diastereomer : 

             2

CHO

H OH

H OH

CH OH

  

and         

2

CHO

HO H

HO H

CH OH

  

(e) Assign R or S configuration of the 

following molecule : 

                     

3

Cl

H C Br

H
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2. Answer any five parts : 2×5=10 

(a) Giving reasons, arrange the following in 

increasing order of acidity : 

ROH, RCOOH, C6H5OH 

(b) Distinguish between the following on 

the basis of IR spectroscopy : 

CH3CHO and CH3COCH3 

(c) Which of the following aldehydes will 

undergo Cannizzaro reaction ?  

CH3CHO or C6H5CHO 

Give reason. 

(d) What is transcription ? Briefly explain. 

(e) Define iodine value. What does it 

indicate ? 

(f) Draw the conformational structure for 

the following : 

(i) -D-( )-  glucopyranose 

(ii) Lactose 
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3. Answer any five parts : 3×5=15 

(a) How will you carry out the following 

conversions ? 

 

 

 

 

 

(b) Explain with mechanism the synthesis 

of ethylacetoacetate starting from 

ethylacetate. What is the name of this 

reaction ? 

(c) Explain why propene reacts with HBr 

in presence of peroxide to give 1-

bromopropane whereas in absence of 

peroxide it gives 2-bromopropane. 

(d) Which is more basic–pyrrole or  

pyridine ? Why ? 

(e) What are the differences between 

resonance and tautomerism ? Explain 

giving one example for each. 
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(f) Explain giving reasons whether 

electrophilic substitution in 

naphthalene will take place at position 

1 or 2. 

4. Answer any five parts : 4×5=20 

(a) Complete the following reactions : 

(i)                  + 
CHCO
|| O
CHCO

   

 (ii)                    6 5C H COOOH
   

(iii)                       
Sn/HCl

   

(iv)                     

2

(i)NaOH

+(ii)CO /H
   

(b) Explain the following reactions : 

(i) Hell-Volhard-Zelinsky reaction 

(ii) Benzoin condensation 
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(c) A primary amide on reaction with Br2 

in alkaline medium forms an amine 

with one carbon less than the starting 

amide. What is the name of the reaction ? 

Explain its mechanism. 

(d) A compound A having the molecular 

formula C6H12 gave the following 

reactions : 

(i) A + Br2/CCl4   Colorless 

                                           solution 

(ii) A + Cold dil.   Brown ppt 

           KMnO4 

(iii) A + O3 
Zn/H O2  CH3CH2CHO 

                                   (only product) 

What are the two possible structures of 

A ? Also give the products formed in  

(i) and (ii). 

(e) Draw the possible conformational 

structures for cis- and trans- 1, 2-

dimethylcyclohexane. Which conformer 

will be more stable and why ? 

(f) How will you distinguish between 

primary, secondary and tertiary amines 

using Hinsberg test ? 
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 CHE–05 

foKku Lukrd (ch- ,l-&lh-) 

l=kar ijh{kk  

twu] 2025 

lh-,p-bZ-&05 % dkcZfud jlk;u 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % lHkh pkj iz'uksa ds mÙkj nhft,A 

1- lHkh ik¡p Hkkxksa ds mÙkj nhft, % 1×5=5 

(d) fuEufyf[kr ,sYdhu dk E ;k Z foU;kl fu/kkZfjr 

dhft, % 

3

3

H C Cl

C=C

H CH

  

([k) fuEufyf[kr esa ls dkSu&lk vf/kd izcy vEy gS \ 
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(x) v.kq lw= C2H6O okys ;kSfxd ds laHko 

vfHky{kdh; lewg leko;o fyf[k,A 

(?k) fuEufyf[kr dks ,usfU'k;ksej vFkok MkbLVhfj;ksej 

ds :i esa oxhZÏr dhft, % 

            2

CHO

H OH

H OH

CH OH
  

vkSj        

2

CHO

HO H

HO H

CH OH

  

 (³) fuEufyf[kr v.kq dk R ;k S foU;kl fu/kkZfjr 

dhft, % 

3

Cl

H C Br

H
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2- fdUgha ik¡p Hkkxksa ds mÙkj nhft, % 2×5=10 

(d) dkj.k nsrs gq, fuEufyf[kr dks vEyrk ds c<+rs Øe 

esa O;ofLFkr dhft, % 

ROH, RCOOH, C6H5OH 

([k) fuEufyf[kr esa vojDr LisDVªfedh ds vk/kkj ij 

vUrj dhft, % 

CH3CHO vkSj CH3COCH3 

(x) fuEufyf[kr ,sfYMgkbMksa esa ls dkSu&lk dSfut+kjks 

vfHkfØ;k djsxk \ 

CH3CHO ;k C6H5CHO 

dkj.k crkb,A 

(?k) izfrys[ku D;k gksrk gS \ laf{kIr O;k[;k dhft,A 

(³) vk;ksMhu eku dh ifjHkk"kk nhft,A ;g D;k n'kkZrk  

gS \ 

(p) fuEufyf[kr ds fy, dkWUQkWesZ'kuh lajpuk,¡ fyf[k, % 

(i) -D-( )-  XywdksikbjSukst 

(ii) ySDVksl 
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3- fdUgha ik¡p Hkkxksa ds mÙkj nhft, % 3×5=15 

(d) fuEufyf[kr :ikraj.kksa dks vki fdl izdkj djsaxs \ 

 

 

 

([k) ,fFky ,slhVsV ls vkjaHk djds ,fFky ,slhVks,slhVsV 

ds la'ys"k.k dh fØ;kfof/k lfgr O;k[;k dhft,A 

bl vfHkfØ;k dk D;k uke gS \ 

(x) O;k[;k dhft, fd izksihu ijkWDlkbM dh mifLFkfr esa 

HBr ds lkFk vfHkfØ;k djds D;ksa 1&czkseksizksisu 

nsrh gS] tcfd ijkWDlkbM dh vuqifLFkfr esa ;g 

2&czkseksizksisu nsrh gSA 

(?k) fijksy ;k fijhMhu esa ls dkSu&lk vf/kd {kkjh;  

gS \ vkSj D;ksa \ 

(³) vuqukn vkSj pyko;ork esa D;k vUrj gSa \ izR;sd 

ds fy, ,d mnkgj.k nsrs gq, O;k[;k dhft,A 
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(p) dkj.k nsrs gq, O;k[;k dhft, fd uS¶Fksyhu esa 

bysDVªkWuLusgh izfrLFkkiu 1&fLFkfr ij gksrk gS ;k 

2&fLFkfr ijA 

4- fdUgha ik¡p Hkkxksa ds mÙkj nhft, % 4×5=20 

(d) fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 

(i)                  + 
CHCO
|| O
CHCO

   

 (ii)                    6 5C H COOOH
   

(iii)                       
Sn/HCl

   

(iv)                     

2

(i)NaOH

+(ii)CO /H
   

([k) fuEufyf[kr vfHkfØ;kvksa dh O;k[;k dhft, % 

(i) gSy&oksykMZ&ts¥yLdh vfHkfØ;k 

(ii) csUtkWbu la?kuu 
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(x) ,d izkFkfed ,sekbM {kkjh; ek/;e esa Br2 ds lkFk 

vfHkfØ;k }kjk ,d ,sehu cukrk gS ftlesa vkjafHkd 

,sekbM ls ,d dkcZu ijek.kq de gksrk gSA bl 

vfHkfØ;k dk D;k uke gS \ bldh fØ;kfof/k dh 

O;k[;k dhft,A 

(?k) ,d ;kSfxd A ftldk v.kq lw= C6H12 gS] 

fuEufyf[kr vfHkfØ;k,¡ nsrk gS % 

(i) A + Br2/CCl4   jaxghu foy;u 

(ii) A + BaMk ruq KMnO4   Hkwjk vo{ksi 

(iii) A + O3 2Zn/H O
  CH3CH2CHO 

                                       (dsoy mRikn) 

A dh nks laHko lajpuk,¡ dkSu&lh gSa \ (i) vkSj (ii) 

esa cus mRiknksa dks Hkh fyf[k,A 

(³) fll&vkSj Vªkal&1] 2&MkbesfFky lkbDyksgsDlsu dh 

laHko dkWUQkWesZ'kuh lajpuk,¡ vkjsf[kr dhft,A 

dkSu&lk dkWUQkWesZ'kuh leko;o vf/kd LFkk;h gksxk 

vkSj D;ksa \ 

(p) fgalcxZ ijh{k.k }kjk izkFkfed] f}rh;d vkSj r`rh;d 

,sehuksa esa vki fdl izdkj varj djsaxs \ 

× × × × × 


